
Math 407 Linear Optimization

Transformation of LPs to Standard Form

Transform the following LPs to LPs in standard form.

1.
minimize x1 − 12x2 − 2x3

subject to 5x1 − x2 − 2x3 = 10
2x1 + x2 − 20x3 ≥ −30

x2 ≤ 0 , 1 ≤ x3 ≤ 4

2.
maximize 3x − 12y + 4z

subject to 5x − 10z = 10
2x − y − 17z ≥ −10
x + y + z ≤ 10
y ≤ 0, 1 ≤ z

3.
minimize 4x1 − 2x2 + x3

−x1 + 3x2 − x3 ≥ −1
5x2 + 3x3 = 5

x1 + x2 + x3 ≤ 1
−1 ≤ x2, −2 ≤ x3 ≤ 2

4.

maximize 3x1 − 5x2

subject to 4x1 + 5x2 ≥ 3
6x1 − 6x2 = 7
x1 + 8x2 ≤ 20
0 ≤ x1, x2

5.

minimize −8x1 + 9x2 + 2x3 − 6x4 − 5x5

subject to 6x1 + 6x2 − 10x3 + 2x4 − 8x5 ≥ 3
0 ≤ x1, x2, x3, x4, x5
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